Приложение 4
Заменить подчеркнутые существительное на местоимение по образцу:

Model: Nick is six. – He is six.
1. A doll is bad. -

2. Ken and Ben are friends. -

3. My sister is little. -

4. You and your Mum are happy. -

5. Betty is ten. –

Вставить нужную форму глагола “to be” по образцу:

Model: Betty (to be) nine. – Betty is nine.
1. He (to be) sad..

2. I (to be) eleven.

3.  We (to be) friends

4. My Mum (to be) from Moscow.

5. You (to be) big.
Заменить подчеркнутые существительное на местоимение по образцу:

Model: Nick is six. – He is six.
6. A doll is bad. -

7. Ken and Ben are friends. -

8. My sister is little. -

9. You and your Mum are happy. -

10. Betty is ten. –

Вставить нужную форму глагола “to be” по образцу:

Model: Betty (to be) nine. – Betty is nine.
3. He (to be) sad..

4. I (to be) eleven.

3.  We (to be) friends

6. My Mum (to be) from Moscow.

7. You (to be) big.
Заменить подчеркнутые существительное на местоимение по образцу:

Model: Nick is six. – He is six.
11. A doll is bad. -

12. Ken and Ben are friends. -

13. My sister is little. -

14. You and your Mum are happy. -

15. Betty is ten. –

Вставить нужную форму глагола “to be” по образцу:

Model: Betty (to be) nine. – Betty is nine.
5. He (to be) sad..

6. I (to be) eleven.

3.  We (to be) friends

8. My Mum (to be) from Moscow.

9. You (to be) big.
